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Exploration of Statistical Analysis for Exposure Measurement Data
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Acetone n-Hexane Benzene Toluene Butyl acetate Xylene
SD GM GSD X¢y SEG AM SD GM GSD Xg, SEG AM SD GM GSD Xog, SEG AM SD GM GSD X, SEG SD GM GSD X¢y SEG AM SD GM GSD Xose
082 208 276 1 064 032 046 3.03 28 1 076 037 059 259 281 1 087 045 061 327 425 3 051 071 3.05 445 099 052 0.65 3.68 5.53
153 4.48 17.99 091 1.21 057 295 3.37 1.88 478 08 3.16 5.31 1.22 138 0.77 313 5.01 . 914 147 446 172 323 69.92 297 11.76 171.05
0.82 228 3.16 074 02 0.66 201 207 089 0.23 0.81 1.82 215 12.07 19.79 3.81 4.73 49.03 . 032 1.03 202 3.26 59.36 191.3 347 9.01 129.21
064 1.02 0.66 052 037 031 351 246 064 042 042 294 249 072 051 04 383 3.66 5 0.76 051 3.74 4.46 112 118 047 51 6.89
1.5 3.69 1282 0.77 042 0.6 253 273 194 475 087 3 5.28 142 186 088 3.05 549 : 11.55 145 3.64 1219 39.79 144.16 1.97 9.05 73.78
1.53 3.69 13.08 067 03 051 276 27 08 034 064 239 27 091 042 0.68 296 4.03 . 144 125 267 6.27 1.63 1.27 096 4.08 9.67
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Acetone n-Hexane Benzene Toluene Butyl acetate Xylene
o - i B
3 o ;JL- X ];5 ﬁﬁz (acetone) ~ PR U (n_hexane) =3 (benzene) * (toluene) ~ T SD GM GSD SD GM SD GM X% SEG AM SD GM X% SEG AM SD GM GSD Xo SEG AM SD GM GSD Xss
o _ o o, . . : 445 1.77 3.67 . . 0 0.8 . . 0 095 095 1 152 084 139 1. 2.96 1 1.25 0 1.25 1 1.25 1 163 077 153 149 294
ﬁjg‘ N ﬁﬂ (buty] acetate) «fr’ - 9 (Xylene) ) ,’_‘_1._ T A 7}5 ?‘% = (Slmﬂar 15 689 3.08 3.67 26. 5 217 174 237 7. 76 141 143 181 381 2 2191 3512 529 566 9147 2 119.06 47147 715 802 21959 2 5311 923 881 7.72 253.98
B S G 6 ’ N N g 1145 277 5 . . 1.89 144 2. . . 1.84 1.85 . 623 3 1493 3894 3.9 . 3892 3 898 2359 274 337 2025 3 29.06 56.08 7.83 5.53 130.45
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T T E )'T (J 1% ~A(3E ) ) -l» 1 B A L Bl F Fp| - . 0 065 1 O 8 0 08 . 95 0 095 095 4 188 109 165 175 414 4 125 0 125 1 125 4 125 0 125 1 125
exposu € g Oup, EJ%);U 7 I l;; % ;}7#* /EJ L /EJ L . 276 127 297 . . 146 1.59 2. g . 316 1.69 2. 691 5 21.26 4435 3.33 6. 64.5 5 1782 3492 376 544 6095 5 49.92 102.61 4.14 8.93 151.57
/% }i o Acetone n-Hexane Benzene Toluene Butyl acetate Xylene

SD GM GSD SD GM SD GM Xos5o SEG AM SD GM Xoses SEG AM SD GM GSD Xgy SEG AM SD GM GSD Xosy
1.52 095 2.09 g . 1.85 1.27 2. g : 1.69 1.37 1. 391 1 571 11.73 2.05 : 1538 1 696 1281 249 3.64 20.86 20.73 36.36 3.51 6.48 75.85
08 0.72 1.48 : . 257 094 1. . .07 5413 117 2. 491 2 2433 11194 325 4. 3555 2 539 1757 18 27 9.21 23.05 81.42 583 3.76 51.44
44 134 291 . . 3.7 136 2. . . 347 146 2. 478 3 12.77 48.24 2.06 3. 1717 3 419 571 23 271 11.86 1836 31.6 4.47 5.28 69.08
: 13.59 22 3.23 . ’ 6.89 222 2. . : 1.52 1.65 1. 464 4 1499 42 281 4. 3459 4 794 1265 3.73 3.29 26.51 8298 174.38 11.3 10.17 512.99
X 0 065 1 : g 0 0.8 . ; 0 09 1 095 5 1.1 0 1.1 1 1.1 5 1.25 0 1.25 1 1.25 398 03 397 1.08 4.48
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=3 g;\?: ﬁé’: ‘% B — 'B SEG 4 ,'}7” %& ‘E;F(’ %& % )3\‘5 ’ ":%7 '-!J":d’ %ﬂ: :‘;E‘ %'k g ‘/Elj 7 Acetone n-Hexane Benzene Toluene Butyl acetate Xylene
E v ' SD GM GSD 0 SD GM 0 SD GM GSD X¢ SEG AM SD GM GSD X¢y SEG AM SD GM GSD Xose AM SD GM GSD Xos
ﬁi# > 1y 21w : El‘ L Iam ( m 1 m |\/|) *ﬂ 1_'% 0.93 1.86 204 11 234 121 28 659 1 2191 2.042 1647 2.029 5.274 444 688 19 377 1691 3.77 201 3.66 16.96
> = L T . : =3B ~ - . : : . . . . . ! . . . . . : . . . . . : : . : : . . . : :
5 F ‘7'1’ #B Fﬁp VEE "‘ 'ﬁ 7T /{ - arlth eth ean’ A m s g 1.62 3.06 . : 527 142 4. . s 898 1.77 371 1532 2 3402 4.005 2.206 2.595 10.588 544 858 2.01 4.64 25 s 23.64 4.55 3.57 36.83
AN b 22‘ /"J N i /L < 2‘4‘ . . 091 219 . . 245 099 3. . . 219 123 268 623 3 2474 2637 1.793 2.091 6.033 287 444 138 3.68 11.71 . 253 347 202 10.97
7_‘:.::. (Standard deVIatlon; SD) A ]?B v L i:‘, B geOmetrlc mean, GM > ]?B 099 2.01 3. 57 261 112 5. . 67 261 1.33 454 1597 4 3.204 2.745 2375 2219 8.811 895 1031 259 818 8217 31 385 171 416 17.82
) 2 ~ 2 . . . ,L/.‘ o J_L 0 . . 1.76 2.62 . . 354 1.61 7. . : 291 1.75 5.63 30.01 5 6908 7.471 4.521 2.826 24.966 8 7.05 3.02 8.67 105.52 . 262 6.01 153 12.04
]E'J 7}3‘1_‘_7 7.:":1 (geOII]etrIC Standard deVIatlon GSD) ’ff’ 5,47 1B (95 /O Acetone n-Hexane Benzene Toluene Butyl acetate Xylene
4 v , W 4 AM GM GSD 0 SD GM 0 SD GM GSD Xos AM SD GM GSD Xoso, SD GM GSD Xose SD GM GSD Xoso
. Y i JA 2 a‘
percentlle, X 95(y) o = 1 . )é’ _j__ }';i X _j__ :Jf ;}‘]2 %( -E% #E ]] j 3: ‘E' %( ‘\B #B 0.65 s 0.65 1.01 s - 244 0.76 3. . . 029 0.73 2.09 244 . 1.89 098 3.21 6.65 . 126 117 289 6.71 g 513 1.48 4.35 16.64
o ‘ 2.75 : 1.32 295 . .6 8.81 091 4. . . 1.87 091 312 5.88 . 3.03 1.89 3.09 12.06 . 3.77 135 3.72 11.75 . 11 226 5.51 37.51
St m R ' 2L g o= pb s 2Ll e 7} ;}» Yoy T 0.65 065 1 0. 8 0 08 ] 95 0 095 1 095 i 0 11 1 11 29 147 204 2 637 98 81 399 516 59.16
Fﬁg W F E' =L I‘E'“ ) 'l /‘ R F T 3~E' = Wb F l-EL - B Fﬁg Fj e ’Qr’ * 1.01 081 1.75 . 5 0.6 0.88 1. . . 0.58 1.06 137 1.78 . 023 113 115 143 . 316 183 214 6.38 . 218 1.76 194 5.24
285 4.64 131 3.06 : : 339 131 2. . . 1.77 116 2.02 3.69 . 4.09 1.62 217 58 . 345 199 216 7.07 . 478 2.7 255 12.58
statagent01 <- function (factdata01, agent01, seg01) { agent01 <- c("Acetone", "n_Hexane", "Benzene", "Toluene", "Butyl_acetate", 1117 253 149 5.7 2. 26 17 074 3. : 06 086 081 23 3.2 8 322 098 314 641 : 12 099 253 454 46 287 134 378 1191
tempO01 <- matrix(0, length(seg01), length(seg(01)) "Xylene")
for(i in 1:length(seg01)) { expostatpar01 <-function (data01, agent01) {
segdata01 <- factdata01[factdata01$SEG==seg01[i],] fact01 <- levels(factor(dataO1$Factory)) Acetone n_Hexane Benzene
data01l <- segdata0l[colnames(segdata0l)==agent01] seg01 <- levels(factor(dataO1$SEG))
data02 <- dataO1[[agent01]] statist01 <- array(0, dim=c(length(seg01), 6, length(agent01), length(fact01)))
AM = round(mean(data02, na.rm=T), 3) n01 <- length(agent01)
SD = round(sd(data02, na.rm=T), 3) for (iin 1:length(fact01)) { A - .
Median = round(median(data02, na.rm=T), 3) factdatO1 <- data01[data01$Factory==fact01[i],]
GM = round(exp(mean(log(data02), na.rm=T)), 3) for (j in 1:length(agent01)) {
GSD = round(exp(sd(log(data02), na.rm=T)), 3) tmpO01 <- statagent01(factdat01, agent01[j], seg01)
X95 = round(qlnorm(0.95, log(GM), log(GSD)), 3) statist01[,,j,i] <- as.matrix(tmp01) 40 -
temp01[i, 1] <- AM } e} .
tempO01[i, 2] <- SD } % . .
temp01[i, 3] <- Median statist02 <- array(statist01, dim=c(length(seg01), 6, length(agent01), — 20 *
tempO01[i, 4] <- GM length(fact01)), ﬁ-ﬁg .
tempO1[i, 5] <- GSD dimnames=list(c("SEG01", "SEG02", "SEG03", "SEG04", "SEG05", "SEG06"), J:Iiﬂ- i .
tempO1[i, 6] <- X95 c("AM", "SD", "Median", "GM", "GSD", "X95"), 8IE + ﬁ EI:|+ + * * .
} ("Acetone" "n_Hexane", "Benzene", "Toluene", ”Butyl acetate", "Xylene”), :-i_— D 41 == (- = - e OO e b P e g, NN o e, R caomp
dimnames(temp01)[[1]] <- ¢("SEG01", "SEG02", "SEG03", c("AO01", "A02", "A03", "A04", "A05", "A06"))) -1-_1|I-[|1
"SEG04", "SEGO05", "SEG06") return(statist02) oy T
: oluene Butyl acetate Xylene
dimnames(temp01)[[2]] <- c("AM", "SD", "Median", "GM", } E y_ y
||GSD||, HX95I|) ]%]— +
return(data.frame(temp01)) expostatpar01(shiehOla, agent01) Eﬁ& . .
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p01 <- ggbarplot(shiehOla, combine=TRUE, x="SEG", y=c("Acetone", "n-Hexane", Bl % 1 R i@ ”ﬁ T 5 & %P7 w 4~ 0 SEG R4 I B i
"Benzene", "Toluene", "Butyl acetate", "Xylene"), ylim=c(0,75), fill="SEG", add=c("mean_se",

"jitter"), error.plot = "errorbar", add.params = list(size=0.75, jitter = 0.25)) + TiEpEEIE B 1 B2 BEE 3 B 4 BH 5 B9 6
theme_pubr(1egend=c("none")) +
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gogboxplot(shieh01b, combine=TRUE, x="Factory", y=c("Acetone", "n-Hexane", "Benzene", 10- . _:":
"Toluene", "Butyl acetate", "Xylene"), fill="SEG", error.plot="errorbar", ylim=c(0, 50), % 3 ;! .. : :' “ ‘I
add.params = list(size=0.75, jitter = 0.25)) + i 0 eds v rl"‘!; -"'Lﬁ "-l“-
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library(plotly) 20 - : -. .
packageVersion('plotly') . : -
library(gridExtra) 10 - .. . o * *
library(grid) * . o o[] * _E
library(ggplot2) . H ! .
library(lattice) 0 - - - - .
factAOla <- data.frame(shiehO1b[shiehO1b$Factory=="A01",]) ' ' ' ' ' ' ' ' ' ' ' ' ' ' ' ' '
pp0la <- ggplot(factAOla, aes(Acetone, y=..scaled.., color=SEG)) + xlim(c(0, 100))+ ylab("Density") + xlab("Acetone") + AOD1 ADZ2 AD> ADE A03 AD4 AOD1 ADZ2 AD> ADE A03 AD4 A01 AD2 AD> A06 AD3 AD4
geom_density(kernel="gaussian", geom="line", size=0.75) + theme(legend.background=element_rect(colour=factA01a$SEG), T s
legend justification="left", legend.position=c(0.85,0.85)) Rl
pp02a <- ggplot(factAOla, aes(n_Hexane, y=..scaled.., color=SEG)) + xlim(c(0, 20))+ ylab("Density") + xlab("n-Hexane") + Eg]z {E, ;}7@ f: o T T?P L v SEG E‘f")%é i‘] ]Eg] L ﬁ?&

geom_density(kernel="gaussian", geom="line", size=0.75) + theme(legend.background=element_rect(colour=factA01a$SEG),

legend justification="left", legend.position=c(0.85,0.85))
pp03a <- ggplot(factAOla, aes(Benzene, y=..scaled.., color=SEG)) + xlim(c(0, 40))+ ylab("Density") + xlab("Benzene") + 1.00- | SEG 1.00- g SEG 1.00- SEG
geom_density(kernel="gaussian", geom="line", size=0.75) + theme(legend.background=element_rect(colour=factA01a$SEG), ] 0 1 4 0 1 0 1
legend justification="1left", legend.position=c(0.85,0.85)) 0 2 0 2 0 2
pp04a <- ggplot(factAOla, aes(Toluene, y=..scaled.., color=SEG)) + xlim(c(0, 100))+ ylab("Density") + xlab("Toluene") + 0 3 0 3 03
geom_density(kernel="gaussian", geom="line", size=0.75) + theme(legend.background=element_rect(colour=factA01a$SEG), 0.75- [l 4 0.75- [l 4 0.75- | L 4
legend justification="left", legend.position=c(0.85,0.85)) [ 5 F 0 5 05
pp05a <- ggplot(factAOla, aes(Butyl_acetate, y=..scaled.., color=SEG)) + xlim(c(0, 100))+ ylab("Density") + xlab("Butyl acetate") + £ 6 £ 6 £ | 6
geom_density(kernel="gaussian", geom="line", size=0.75) + theme(legend.background=element_rect(colour=factA01a$SEG), T 050- C 050- e 0.50-
legend justification="left", legend.position=c(0.85,0.85)) E E E
ppU6a <- ggplot(factAOla, aes(Xylene, y=..scaled.., color=SEG)) + xlim(c(0, 100))+ ylab("Density") + xlab("Xylene") +
geom_density(kernel="gaussian", geom="line", size=0.75) + theme(legend.background=element_rect(colour=factA01a$SEG),
legend.justification="left", legend.position=c(0.85,0.85)) 0.25- 0.25- 0.25-
grid.arrange(ppOla+theme(legend.position= c(0.83,0.78), legend.key.size=unit(0.25, 'cm')), pp02a+theme(legend.position= c(0.83,0.78), 1 |
legend.key.size=unit(0.25, 'cm')), pp03a+theme(legend.position= c(0.83,0.78), legend.key.size=unit(0.25, 'cm')), m |l h.._ l
pp04a+theme(legend.position= c(0.83,0.78), legend.key.size=unit(0.25, 'cm')), pp05a+theme(legend.position= c(0.83,0.78), 0.00 - LA i 0.00 1'] L N 0.00 - " ' e
legend.key.size=unit(0.25, 'cm')), ppO6a+theme(legend.position= c(0.83,0.78), legend.key.size=unit(0.25, 'cm')), ncol=3, nrow=2) ' ! l l l ! ' l ! l ! l l l l l !
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